ERRARORBIERT — 2N~ XBISH—F
LU 7R —fik C3=m

201951282480 (K) 11EI#EF2H

‘ [Riz] ¥ ‘ [RERBB] — | & (&) 15000 &

[A~&£] 1 7% :800,000  ~ 23&:280,000 3 ~ 33 :160,000 M 43 :120,000F 5 & :84,000 M

& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
W, 4t o7 | BHE 1:39.3 1-1-1-1 | 40.1| - 1 460 | TREEETT (7B70)
17|74 56.0 (=) 7 ER—
R:T7HIHTLIY BiXx4/3I54 pidie
= REME :39. —5-4— . — EEME (H)
2 6 574 —F % 7 i 1(329)7 6-5-4-2 | 40.3 2 (4+332) s
L:¥r/07a4 B:7O-73%v b KIS
w6 | HEEE 1:41.0 4-3-2-4 |41.8| — | 5 | 461 |FEAEE (HF)
307/g| ¥IZbO “ 7 560 ® G | IERE
LT RIA VL= BA—FLAOTF(— A—L— - IvIX> -+ T7—LERE
S = it 4 | SEER 1:41.2 9-9-8-6 |41.3| — 8 448 | EO—FR G0
4 4| 77 VIV =T 54.0 (1 1/2) (o) | A) RE
Ri¥rIToby-L Bivvi 2 MEVSY =241 =W [F9 77 =55
i35 . —4-6- . — RS (GRAn)
5 3| FATFHE it 4 e | +)2 3-4-6-5 | 41.6 3 (ﬁ?) ot
:E¥r7AvyvY B:Y-E-70OX EEL e
- s == eieEt 41, -10-10- . = HHIESE (@)
6 2 = JFwRFT 1 4 8 el 174115? 11-10-10-9 | 40.9 1 (4+435) ==
L:a2=/xLlLy b BN=TLIbyY FxiGEEve )
N . “ o4 | BEEME— 1:41.5 8-8-3-3 |42.1| — 4 535 | HOF (@f)
71111 J—ILRKZX—"Y 56.0 (1) (+2) EERA
R:7vio—-L B:NvE-F14T97 11— METHS
= K B4 | BoTHiRR 1:41.7 7-6-5-7 |42.3| — 10 | 440 |#&EWR GAFN)
glr|o |7 77—~ KN 54.0 (1 1/2) w3 |dERE
R:ixF1zgr—2 B:v—%-— EBRT 7L
8 4 4 | EEX 1:41.8 5-7-9-8 |41.9| — 9 408 | HE&E GET)
9l5(5|¥>F1T17 54.0 (7 (t) | %) DELooP
LN—HNK B:a-774—-> WA BER
. i 5 | SEHEK 1:41.9 10-11-11-11| 41.4 | — 6 439 | BSSEE] ()
108 10| = H— X 54.0 (172) Gy | HER=
LTINTFINTL2 B:wUZRA wE R
3 . o # 9 | Rtk 1:42.9 2-2-7-10 | 43.3| — 7 462 | NNIAISPSE (AN
1jg|1| SAFTIHFUT 4.0 (5) e
L7788 A7149 7748 B:T72ahl BREMET Y KZ9 T - Tr—LA
® 1 —F—EBIERL
13 —3F— 7,11,3,8,5,6,9,1,4,10,2
20—F— 7,11,8,3,6,9,5,1,4,2,10
30—7+— 7,8,1,6,9,3,11,4,5,2,10
43—F— 7,6,1,8,3,4,9,5,2,11,10
[ N3
BB 7 240H 714K 6-7 200M e 6-6 400 3JEHE 6-7-8 830M
8 B 7 140M 7-8 350M B 6-6 410M K31 7-6-8 3,210
6 1309 6-8 380 B E 6-7 490M
8 170 B H 7-6 820M

ARICOVWTRDTEEERROODE. TR LI,




